BOM
Plan Article Qty | No. Plan Article Qty
P00038153 2084571 (std.) 1 | 9 M5 DIN9021 2994902 1
2084581 (LB) 1 10 M6 DIN986 2994059 2
20845C5 (LG) 1 11 M5 DIN986 2994902 1
20845A3 (OR) 1 12 M6x25 DIN912 2996887 2
P00043090 1919439 (L) 1 13 M8 DIN126 1996214 2
P00043093 1919441 (R) 1 14 M8 DIN985 2994009 2
P00043094 G104400 1 15 P00043083 G104300 2
P00043098 2084654 1 16 M8 DIN9021 2994911 2
P00043101 2083954 (L) 1 17 M8x30 DIN912 1915414 2
P00043103 2084054 (R) 1 18 P00055706 G104700 1
P00043422 2084754 1 19 X004747 1906057 2
1920284 2 20 M6x12 1ISO7380 3992768 2
M5x25 DIN912 2994083 1 21 P00057694 2086500 1
22 4x14 1001584 2
e LR

L LT S, | Left side depicted only 2995843

Plan No.

VERSO LOCKING MECHANISM

E00053247/F1.1

Scale: 3.5 Drafted Verified Confirmed
Date 14/03/2023 13/07/2023 13/07/2023
Initials SD PM MK




